	ANNEXURE-"I" - LIST OF PRINTED FORMS (SIZE WISE) AND REGISTERS					
	FORMS - Quote Rates separately for following size (57 GSM ORIENT) Each Pad 100 Leaves					
SL.NO.	PARTICULARS	UNIT- 1 PAD = 100 leaves	RATE Per Pad (100 leaves) in Rs <u>excluding GST</u> but Inclusive of all other charges	GST Rate %		
1	17x27/2 Single Side Printing	Pad(100 leaves = 200 Pages)				
2	17x27/2 Both Side Printing	Pad(100 leaves = 200 Pages)				
3	17x27/4 Single Side Printing	Pad(100 leaves = 200 Pages)				
4	17x27/4 Both Side Printing	Pad(100 leaves = 200 Pages)				
5	17x27/8 Single Side Printing	Pad(100 leaves = 200 Pages)				
6	17X27/8 Both Side Printing	Pad(100 leaves = 200 Pages)				
7	18x22/2 Single Side Printing	Pad(100 leaves = 200 Pages)				
8	18x22/2 Both Side Printing	Pad(100 leaves = 200 Pages)				
9	18x22/4 Single Side Printing	Pad(100 leaves = 200 Pages)				
10	18x22/4 Both Side Printing	Pad(100 leaves = 200 Pages)				
11	18x22/5 Single Side Printing	Pad(100 leaves = 200 Pages)				
12	18x22/5 Both Side Printing	Pad(100 leaves = 200 Pages)				
13	18x22/6 Single Side Printing	Pad(100 leaves = 200 Pages)				
14	18x22/6 Both Side Printing	Pad(100 leaves = 200 Pages)				
15	18x22/8 Single Side Printing	Pad(100 leaves = 200 Pages)				
16	18x22/8 Both Side Printing	Pad(100 leaves = 200 Pages)				

Г

	FORMS - Quote Rates separately for following size (<u>70 GSM</u> Ballarpur Maplitho)Each Pad 100 Leaves					
SL.NO.	PARTICULARS	UNIT- 1 PAD = 100 leaves	RATE Per Pad (100 leaves) in Rs <u>excluding GST</u> but Inclusive of all other charges			
1	17x27/2 Single Side Printing	Pad(100 leaves = 200 Pages)				
2	17x27/2 Both Side Printing	Pad(100 leaves = 200 Pages)				
3	17x27/4 Single Side Printing	Pad(100 leaves = 200 Pages)				
4	17x27/4 Both Side Printing	Pad(100 leaves = 200 Pages)				
5	17x27/8 Single Side Printing	Pad(100 leaves = 200 Pages)				
6	17X27/8 Both Side Printing	Pad(100 leaves = 200 Pages)				
7	18x22/2 Single Side Printing	Pad(100 leaves = 200 Pages)				
8	18x22/2 Both Side Printing	Pad(100 leaves = 200 Pages)				
9	18x22/4 Single Side Printing	Pad(100 leaves = 200 Pages)				
10	18x22/4 Both Side Printing	Pad(100 leaves = 200 Pages)				
11	18x22/5 Single Side Printing	Pad(100 leaves = 200 Pages)				
12	18x22/5 Both Side Printing	Pad(100 leaves = 200 Pages)				
13	18x22/6 Single Side Printing	Pad(100 leaves = 200 Pages)				
14	18x22/6 Both Side Printing	Pad(100 leaves = 200 Pages)				
15	18x22/8 Single Side Printing	Pad(100 leaves = 200 Pages)				
	18x22/8 Both Side Printing	Pad(100 leaves = 200 Pages)				

R	Registers -Quote Rates for 80 GSM Ballarpur / JK Ledger Paper (Each Register 100 Leaves / 200 pages & with Page No.)				
SL.NO.	PARTICULARS	UNIT	RATE Per Register (100 leaves) in Rs <u>excluding GST</u> but Inclusive of all other charges	GST Rate %	
1	Budget Control Register No. 3412 - Size 17x27/4 (100 Leaves / 200 pages) Both Side Printing with page Nos.	Registers (100 leaves = 200 pages)			
2	17x27/2 Side Binding Single Side Printing	Registers (100 leaves = 200 pages)			
3	17x27/2 Register Binding Both Side Printing	Registers (100 leaves = 200 pages)			
4	20X30/2 Side Binding Single Side Printing	Registers (100 leaves = 200 pages)			
5	20x30/2 Register Binding Both Side Printing	Registers (100 leaves = 200 pages)			
6	17x27/4 Side Binding Single Side Printing	Registers (100 leaves = 200 pages)			
7	17x27/4 Register Binding Both Side Printing	Registers (100 leaves = 200 pages)			
8	Form No. 4904 & similar size Register 17x27/4 Both side printing	Registers (100 leaves = 200 pages)			
9	Form No. 4027 Remittance received Register(Perforation in ever second page) and similar Register of size 17x27/4 Both side printing	Registers (100 leaves = 200 pages)			

SL.NO.	PARTICULARS	UNIT	RATE Per Register (200 leaves) in Rs <u>excluding GST</u> but Inclusive of all other charges	GST Rate %
1	Budget Control Register No. 3412 Size 17x27/4 (200 Leaves / 400 pages) Both side printing with Page Nos.	Registers (200 leaves / 400 pages)		
2	17x27/2 Register Binding Single Side Printing	Registers (200 leaves / 400 pages)		
3	17x27/2 Register Binding Both Side Printing	Registers (200 leaves / 400 pages)		
4	20X30/2 Side Binding Single Side Printing	Registers (200 leaves / 400 pages)		
5	30x20/2 Register Binding Both Side Printing	Registers (200 leaves / 400 pages)		
6	17x27/4 Register Binding Single Side Printing	Registers (200 leaves / 400 pages)		
7	17x27/4 Register Binding Both Side Printing	Registers (200 leaves / 400 pages)		
Qı	uote Rates for Special Medical	Reports (LIC-03-002 to LIC-03-013	B) & other Forms (<u>80 GSM</u> Ballarpur Mapl	itho)
SL.NO.	PARTICULARS	UNIT- 1 Pad (100 leaves = 200 Pages)	RATE Per Pad (100 leaves= 200 pages) in Rs <u>excluding GST</u> but Inclusive of all other charges	GST Rate %
1	18x22/4, 80 GSM Ballarpur Map- litho, Single Colour, single side printing	UNIT- 1 Pad (100 leaves = 200 Pages)		
2	18x22/4, 80 GSM Ballarpur Map -litho, Single Colour, Both side printing	UNIT- 1 Pad (100 leaves = 200 Pages)		

In compliance with your tender for Printed Forms and registers as per items in Annexure-'I', We quote above our rates for the materials **Excluding GST** but inclusive of all other charges, which will hold good for one year from the date of consideration at your end/next tendering. We agree to abide by your terms and conditions and undertake to supply materials **as per the specifications** given in Annexure-"I".